- y‘\ v_—
£ [ ] [Zs)

qf_ZV— 3“(“)- \abwy, f-3ek (3), 0'."53-,!21. a;‘ 24"4%2

G= Tyt % = Vot Gt Yt e [P)j} [% }
= "Zfoca‘-—?..—; — Jas (3D
(%= -oF7~257 nze)
EX Boe
S o= 0144

(«) 11'3,_?\,, W, ?

BM«Mn cD

200 yin (0'7
55) 'U‘, 57 +’%§\
soow saoow (+ 433 )

= soo ayy (CFR+37D AR =500 nn
T" E- \a = A = A r.o( ) —
e = Vgat A E/A = |8 & son )| - S5 (33D
=000 (Fi~3%)
(0005 .‘(‘9"(’5 = "'"(1"' +3 '0) le20 (4—,« —3—;)

Sos G, = 200 (6= =200(7) G = —F7-228
Z—’ p = 2.8 2nd/le S
...-;




	Page 1: Sep 22-3:44 PM

